Answers

Subtraction by Estimation

Student's Name: class:

Helpful Examples: 54-(16+4)
If we ROUND the numbers, 54 is closer to 50. 16 is closer to

36 — 40 :
we can quickly guesswhat | = 50 - ( 20+0 ) 20 and 4 islessthan 5. so, we
- 14 — _10 the approximate answer

change it to zero.
30 |wittbe. =50-20 =30 ;

Now it's practice time. Subtract using estimation. Show your estimations:

1. 33 — 30
-23 — -20

10

20

15. 86-(35+4)
- 90-(40+0)
- 90-40 =50

18. 73-(18 +13)
- 70-(20+10)
- 70-30 =40

21. 64-(5+40)
- 60- (10 +40)
- 60-50 =10

2. 95 — 100
-35 — . 40

60

—
— - 30

50

20
- 10

10

—
—

16. 94-(11+41)
- 90-(10 +40)
- 90-50 =40

19. 30-(13+5)
- 30-(10+10)
- 30-20 =10

22. 88-(16+8)
- 90-(20+10)
- 90-30 =60
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3. 48
- 25

60

90
- 10

80

—
—

80

70

60
- 40

20

—
—

17. 78-(28 +13)
- 80-(30+10)
- 80-40 =40

20. 57-(17+14)
- 60-(20+10)
- 60-30 =30

23. 91-(18 +22)
- 90-(20+20)
- 90-40 =50




